








RATIO & PROPORTION

अनुपात एवं समानुपात



CONCEPT OF RATIO

Ratio: Ratio is the comparison of two quantities .

अनपुात दो मात्राओ ंकी तलुना ह।ै

Proportion: A proportion is an equality of two ratios.

एक समानपुात दो अनपुातों की समानता ह।ै





COMPARISON OF QUANTITIES



COMPARISON OF QUANTITIES



find the mean proportion of 8 and 18 ?

8 और 18 का औसत अनपुात ज्ञात करें?

a) 12

b) 16

c) 15

d) 18



Find the third proportional to 16 and 36.

16 और 36 का तीसरा समानपुाती ज्ञात कीजिए।

a) 27

b) 60

c) 45

d) 81



Find the fourth proportional to 4, 9, 12.

4, 9, 12 का चौथा समानपुात ज्ञात कीजिए।

a) 25

b) 28

c) 20

d) 27



a) 1

b) 2

c) 3

d) 4

What least number must be added to each of the numbers 4,10, 12 and 24 so that the 

numbers may be proportion

4,10,12 तथा 24 में वह कौन सी समान संख्या िोड़ी िाए जिससे बानी हुई संख्याए समानपुाती हो ?



a) 968          

b) 460      

c) 484          

d) 640 

A and B together have Rs. 2420. If 4/15th part of A’s amount is equal to the 2/5th  

of B’s amount, so how much amount dose B have?

A और B के पास कुल 2420 रु ह।ै यजद A का 4/15 वा भाग B के 2/5 वे भाग के बराबर हो तो B के 

पास जकतने रुपये होंगे। 



a) 30000

b) 24000   

c) 28000  

d) 20000 

The ratio of income of A and B is 5:4 and ratio of income of B and C is 6:7. If A 

earn 2000rs more than C then find the salary of B?

A तथा B की आय का अनपुात 5:4 ह ैऔर B तथा C की आय का अनपुात 6:7 ह।ै  यजद की A आय 

की C आय से 2000 रु अजिक हो तो  B की आय ज्ञात करो ?



a) 3:4:5         

b) 3:4:6

c) 2:3:4         

d) 7:4:5 

Seats for Mathematics, Physics and Biology  in a college are in the ratio of 5 : 7 : 8 . 

There is a proposal to increase these seats by 40%, 50% and 75% respectively .What  

will  be the ratio of seats after increase ?

जकसी जवद्यालय में गजित, भौजतक जवज्ञानं और िंत ुजवज्ञानं के जलए सीटों का अनपुात क्रमशः 5 : 7 : 8  

ह।ै यजद इन सीटों को क्रमशः 40%, 50% तथा 75% से बड़ा जदया िाए तो बढ़ने के बाद इनका अनपुात 

क्या होगा ?



(a) 60         

(b) 50      

(c) 40          

(d) 80 

In the mixture of 60 litres the ratio of milk and water 2:1 , how much water should 

be added in the mixture so that ratio will be 1:2 ?

60 लीटर जमश्रि में दिू और पानी का अनपुात 2:1 ह।ै दिू और पानी का अनपुात 1:2 करने के जलए 

जकतना और पानी जमलाना होगा ?



(a)150000         

(b)160000      

(c)128000          

(d)140000 

The ratio of the income of A and B is 5:4 and the ratio of their expenditure is 3:2, if 

the end of year each saves  Rs.64000. So find income of A .

A और B की आय का अनपुात 5:4 ह ै,तथा उनके खचो 3:2का अनपुात ह।ै यजद वर्ष के अंत में प्रत्येक 

64000 रु बचता ह,ै तो A की आय ज्ञात करो ?



(a) 200     

(b) 210      

(c) 240          

(d) 250 

The ratio of students of three classes are 3 : 5 : 4  , if 30 students are admitted in 

each class the ratio will become  6 : 8 : 7. So find the number of students in these 

classes now ?

तीन  कक्षाओ ंमें जवद्याजथषयों की संख्या का अनपुात 3 : 5 : 4 ह।ै यजद प्रत्येक कक्षा में 30 जवद्याथी और 

दाजखला ले लें, तब उनका अनपुात 6 : 8 : 7 हो िाता ह।ै तो अब उन कक्षाओ ंमें कुल जकतने जवद्याथी

होंगे ?



(a) 8     

(b) 4      

(c) 6          

(d) 3 

If (a +b) : (b+c) : (c+a) = 6 : 7 : 8 and (a+b+c) = 14, then the value of c is

यजद (a + b) : (b + c) : (c + a) = 6 : 7 : 8 और (a+b+c) = 14, तो c का मान है



(a) 8 : 7

(b) 12 : 7

(c) 4 : 3

(d) 10 : 7

In a school there are 286 students and the ratio of boys and girls 8:5, if 22 more girls 

are admitted in school then what is the ratio of boys and girls.

एक स्कूल में 286 छात्र हैं और लड़कों और लड़जकयों का अनपुात 8:5 ह,ै यजद 22 और लड़जकयों को 

स्कूल में भती कराया िाता ह ैतो लड़कों और लड़जकयों का अनपुात क्या ह?ै



(a) 8 : 9

(b) 3 : 4

(c) 9 : 8

(d) 4 : 3

The bus fare and train fare of any place from Kolkatta is Rs.20 and Rs.30 

respectively. If the fare of train is increased by 20% and the fare of bus is increased 

by 10%, so what is the ratio of new share of train and bus?

कोलकाता से जकसी भी स्थान का बस जकराया और टे्रन का जकराया क्रमशः 20 रुपये और 30 रुपये ह।ै 

यजद टे्रन का जकराया 20% और बस का जकराया 10% बढ़ा जदया िाता ह,ै तो टे्रन और बस के नए जहस्से 

का अनपुात क्या ह?ै



(a) 120

(b) 192

(c) 144

(d) 210

In a bag 240 Rs. coins of 1 Rs , 50 paise and 25 paise coins in the 5 :6 : 8 then find 

the number of 25 paise coins .

एक बैग में 240 रु. 5 :6 : 8 में 1 रुपय,े 50 पैसे और 25 पैसे के जसक्कों के जसक्के हैं तो 25 पैसे के 

जसक्कों की संख्या ज्ञात कीजिए।




